
 Fluency 15 Answers                Tuesday 12th January 2021 

1) 0 hundreds 

2) 263 

3) 693 

4) 330 

5) 52 

6) 1000          1050           1100 

7) 300 

8) 310 

9) 30 

10) 7 

11)  150 
12) False – It represents one hundred and fifty-three 

13)  

 Reason – No      OR                       Reason -              
                           curved sides.                      It has a mixture of     
                                                                             curved and straight sides. 

14) Twelve 

15) 50p, 20p, 20p and 10p 

                                                                                                                                 

  

 

 

 

 

 

   



 



 


